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¢ answer all questions

1) Which of the [oliowing statements can be considered 25 2 macro economic stateiment?
rubber prices decreased by 10% last year

unemployment rate of last vear was 5.8% from the labour force

the real gross domestic product increased by 7% last year

the general price level increased by 4% Jast year

the tax revenue of the government decreaged by 8% last year
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(2) the main economic units which take decisions in an economic system is
houssholds, business firms and banks

house holds, business firms and government

business firms, government and non government institutions
business firms, banks and those who cngage in foreign trade
households, government and banks
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the opportunity cost of a certain activity is
L. same for all engage in those activities
2. celculated by including the financial cost and the sacrificed income
3. caleulated by including only the financial cost of that activity
4. calculated by including only the sacrificed income due to that activ iy
5. measured only the direct benefits emer ged due to that activity
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(4) on the production possibilities curve of a certain economy
I, technology changes
2. one production can be increased without sa crificing the other product
3. the production resources are not fully utilized
4. the existing resources are fully utilized
5. aninefficiency of the economy exist

(5) select the statement which belong to the micro economics

l. increase of inputs prices cause an increase in the price levels

2. decrease of total production causes a decrease in employment

3. decrease of interest rate causes an increase in meney demand
increase of money supply causes a decrease in the interest rates
‘decrease of marginal productivity causes an increase of marginal cost
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(6) the production possibilities curve of a certain economy is ziven below
vy commodity
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(12) by which of the following, ' that a market economy has 2 consumer sovereignty' can be explained 7 -
. supplying of commodities demanded by the consumers by the market

the government directs only to supply the necessary goods to the consy

YErs
labourers have the freedom to have mobility according to the way they wish
the government engages in price controliin g to protect the consumer

5. existing of a natural monopoly in the market

B
2
4



P—‘ ' b S B k:_r:.«ﬂf'f’\

distribution

(14} the Income effect which affect to decrease the guantit v demanded when the price of the ¢
conmumodity increases
I, transferring of consumers towards comparatively low priced commodities
2. Increasc of the real income when the price of the product increase
3. decrease of the real income when he price of the product increases
4. decreasing the demand expecting the future prices of the product would decrease
decrease of demand b y decreasing the financial income when price increase

L

(£5) following are few paints related to the linear demand and supply conditions of a certain product

| price | quantity demanded | quantity supplied |
LI | 273 | 2:3 J
T e |
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Equilibrium price and the quantity respectively are

. Rs.3 and 10 units 4. Rs. 9 and 25 units

2. Rs 6and 15 units 5. Rs. 10 and 30 units

4

i

Rs. 8 and 20 units

(16) the compulsory condition that can be cxisted in the market equilibrium of a certain product is

1. producer surplus and consumer surplus is equal

2. excess demand price and excess supply price is equal

3. excess demand price and excess supply price is zero

4. excess quantity demanded and excess quantity supplied is equal
5. consumer surplus and producer surplus is zero
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(17) the domestic demand and supply curves for suger in a smail economy is as follows
Qd = 320-3P Qs =-80+2p

also assume that the sugar market of this economy is opened for the world market and the world
market price of one unit of sugar is Rs.60. what is the quantity supplied to the market
domestically when the su gar market is opened for foreign tradc? .

I. 40 units 2.60units  3.80units 4. 100 units 3. 140 units

(18) assume that the demand for petrol is more inelastic and the supply is more elastic. when a production
tax is imposed on petrol under this condition, the tax burden GO RN NS
1. will be greaterly borne by the purchasers

will be greaterly borne by the producers

will be borne equally by the producers and consumers
will be totally borne by those who pay taxes

will not be borne either by producers or cousumers
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| PriccofX | Quantity demanded of X | Demand urﬁT_j
1. | Decrease | Increese Increase ;'
2. | Increase | Decrease Increase :
3. | Increase | Increase Increase ‘
4. | Increase Decrease | Decroase ﬁ‘
| 5. | decrease | increase : | decrease |
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When the variable inputs are incrcased from L1 to LZ in the above diagram, the chan 1ge of shor
run variable cost and marginal cost is
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which statement you can agree, related to the firm given by the diagram

r/ Eevenue fL(-’S’f?
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The firm maximizes profits related to the production fevel of E1
The firm earns super normal profits at the output level of E
The firm earns losses at the output level of
The short run supply curve of the firm is the marginal cost curve runs upwards from E
The minimum supply price of the firm is P
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(31)
1. De
2. Economies of scale
5. Diminishing marginal product

Ties of scale
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(32) Cost and output information of a certain irm in the short run are

t (units) | Cost (Total)
0 200
| 360
o <]
3 390
| 4 410

The avera

respectively are

ge fixed cost and the average variable cost of the above firm at out put level 4

1. 50, 52,50 4. 200, 280.50
2. 40,42 5.60,110.20
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When the firm increases production from 0Q1 Lo-E}Q.Zi it shows
1. Benefits refated to mono poly power

Benefits exist due to increasc of specialization
Diseconomies of scale

Increasing returns to scale

Increasing the production efficiency

L e ted 1o

(34) A certain production firm employs a fixed amount of capital inputs and variable labour inputs

o

praduce commodity 3. If the amount for Jabour is increased . What effect would it have on the
production cost of this firm?

Total variable cost Total fived cost  Total cast
L Decrease unchanged decreasc
2 Decrease decrease decrease
3. Increase decrease unchanged
4. Increase unchanged increase
5 Increase Increase mncrease

(38) By which of the following statements, the marginal revenue of a perfect competitive firm is
definad? '

1. It will take a fixed value

It increases when the sales increase

It decreases when the sales increase

It first increases and then decrease

[t first decrease and then increase
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(36) The average variable cost at 20units is Rs.15. {otal cosi is Rs.500. marginal cost when the
production is increased upto 40 units Rs.10. The average variable cost when producing 40 units is

. Rs.10 2. R5.12.50 + 3.Rs. 15 4. Rs. 17.50 3. Rs. 20°

..(37) Select the correct statement out of the statements given below related to the nature of short run
production cost curves
L. The total fixed cost is given by the vertical difference between average total cost curve and
average variable cost curve
Marginal cost is given by the slope of the total cost curve s Y
Marginal cost is given by the slope of the straight line drawn from the origin (o any point -
“on theiotal cost curve S
4. Average fixed cost is given by the slope of the straight line drawn from the ofigin to any
- point on the total variable cost curve
The average fixed cost curve slo pes downwards at first and then slopes upwards when the
output is increased '
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(42) Which of the following has an important offe

Increasing savings 4, Increast
Decreasing government subsidies 3

Increasing government taxes

t to increase the output level
- government conswmp

ng imports
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(43} Ozﬂv three firms A,B and C exist in & certain ec omr . Firm A produces an output of
Rs.25 000, B firm produces an output of Rs.20 00 J_LI firm C produces an output of Rs.15000,
an A. obtains Rs.5000 inputs from firm B, Rs.3000 inpits from firm C. Firm B B obtains Rs.
4000 inputs from firm A and Rs.5000 i inputs from firm C. Firm C obtains inputs worth Rs. 8000
only from firm A.
Accordingly the value of the output of the economy based on value added is

I. Rs,45000  2.Rs.35000 .. . 3. Rs.25000 - 4. Rs- 15000 -5 Rs 10 040

(44} Gross domestic fixed capital formation = net ¢ :,xpuuaﬁ f..'hc‘nr.\u. s in inventories equals

1. Gross domestic savings 4, Hxpenditure of gross domestic product
2. Gross domestic expeaditure 5. Gross naticnal sevings
3. Gross domestic investmenis
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(4¢) Which of the following answers include the components which are used to calculate the

to the final product system?
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e production approach for national accounts?

rvi ccs; ‘cduction

Payments for factars and o
3. Net exports and payments for factors
4. Payments for factors ’md cost of inputs
5. Faoctor incomes, ca;

net exports

account and services account of the halanc
duction and domestic savings?

¢ of payments, which

I Domestic production when co;.ﬁparc-d to | Domestic savi: ngs when com;a_zféd to |
| domestic expenditure gross investments Sl T
Decrease Increzse 1
Det Decrease
Increase Decrease
4, Inerease Increase
5 decrcase { Remain und@.god e
(ég) What is the adjustment that should be made to obtain gross national income 1o the market price
when net domestic income is given?
1.+ net indirect taxes + capital depreciationt net exports
2. - netindirect taxes + nel exports + net foreign primary income
3. —capital depreciation — net indirect taxes = net EXPOITs
4. +netindirect taxes + capital depreciation + net foreign primary income
5. —capital deprcc%amm - net exports + net foreign primary income
(50} Which of the lol]omw shoL‘d be aaymtcd to gross domiestic Xp chmtuie to obtain disposable

gross national income? -
1. Trade account balance
2. Services account balance
3. Primary income ace

Current transfers account balance
. Current account balance

I

Lh

ount balance



; ?‘s;:{“'@q s ‘RQLG T

De Mazenod College- Kandana
G.C.E.(A/L) Examination 2017
Economics IT
Grade 12- 3" Term Evaluation 2016 July

Select two questions from part A and two questions frons part B and answer five questions altogether

(01}

(02)

(03).

PART - A

(i) what are known as ‘economic resources’? do you have any arguments to prove that land is an
economic resource? Explain’ (3 marks)

ii) what is meant by  natural capital’? why is “‘monev’ not considered as ca vital in
y P ) )

Economies? (4 marks)
(ii1) write the main tasks of an entrepreneur? (3 marks)
(iv)  (a) what is meant by ‘efficiency’? (2 marks)

(b} do all points along the production possibilities curve show the same level
Of economic efficiency? Explain (4 marks)

(v) show the difference between the potential output (equal distribution line) of a
Business cycle and production possibilities curye (4 marks)

(i) ‘economic systems can be categorized based on different criteria’. Write three characteristics
Of a market economic system based on those criteria (3 marks)

(ii) ‘a market cconomy always work towards the social welfare®. Discuss the statement (4 marks)
(iit) explain ‘social market cconomic system’ and give examples (3 marks)

(iv) explain (a) income distribution problem
(b) production problem

(¢) resource allocation problem of an economic system {6 marks)
{v) explain (a) traditional economic system
(b) new traditional economic system giving examples : (4 marks)

(i) what factors are depicted when it is said that a certain product is supplied to the market (3marks)

(i1) explain why a greater quantity is supplied at higher price than at a lower price (4 marks)

(iii) explain the following with relevant diagrams

(a) the effect on the supply curve of the concerned product when the substitute price
Increases

(b) effect on the supply curve of a joint product when the price of the concerned product

Increases (4 marks)
(iv) explain the relationship between the individual supply curve and the market supply curve _
With example - (5 marks)
(v) what can you say about the elasticity at the intersection point of the following supply
. Curves e DD = e T "~ (4 marks)
2
14
. PG



(04)

(03)

©6)

(1) what is meant by a market which has a stable equilibrium? Explain witl: a diagram (4 marks)
(ii) (a) what are the ways of government intervention when the price determined by

The market is not favourable for the producers? (2 marks)

(b) write two economic effects of each of the above instances (4 marks)

(iii) the equilibrium price of a certain product is Rs.100 and the quantity is 1000 units. The
Demand and supply elasticity at the equilibrium is 1.0
(a) find the consumer surplus and the producer surplus (4 marks)

(b) if the government grants a Rs.10 subsidy for this product

L. what 15 the consumer and producer surplus after subsidy? (4 marks)
{1 find the government expenditure on subsidy? (1 mark)
I1. find the lost economic welfare (1 mark)
PART -B
1) Show the difference between direct cost and indirect cost giving one cxample for each (4 marks
7 =} 5 I \ J
(ii) why do economists consider normal profit as a cost component? (4 marks)

(iti) what is meant by rule of profit maximizing? How can it state for production firm which

Act as a price taker? {4 marks)
(iv) define ‘natural monopoly’ (4 marks)

(v} explain
{2} law of returns to scale
(b} taw of diminishing returns - {4 marks)

{1} the short run revenue and cost curves faced by a perfect competitive firm is as follows

e

pfrevenue/cost 4

90 brmmmn P ey AV L
e y '/

" p- Quantity
(a) find the economic profit at the equilibrium of the above firm (2 marks)
(b) find the total fixed cost of the firm (2 marks)
(c) below what price should the firm decide to the leave the industry (Tmark)

(i) why are production firm continuously engage in production even if the economic profits
are zero? (2 marks)

(iii) show the difference between producer surplus and the economic profit (4 marks)

(v} explain the following

(a) amortization payments

{b) sunk cost

(¢} minimum efficient scale (6 marks)
(V) state three differences between the perfect competition and monopolistic competition (3 marks)
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a7 (i) state three major changes taken place in National Accounting system of Sri Lanka (3 marks)
(1) what are the main sectors engage in economic activities according to the new system? (4 marks
\ BGE & J

(iif) what are the two main macro economic units which contributed to the private consumption

expenditure in 20157 (2 marks)
(1v) state three examples to show the relationshi p between the current account of the balance of payment
and national accounts (6 marks)
(v) (a) what are the two major expenditure components which come under
Gross domestic capital formation? (2 marks)

(b) explain
I. basic price
II. producer’s price
[IL purchaser’s price (3 marks)

(08} i} the data for a hypothetical economy for 2015 are siven below. (Rs. Million)
. ] ¥p ¥ g

Private consumption expenditure 100
Gross domestic capital formation 10
Government consumption expenditure 60
Goods and services exports 30
Final consumption 160
Goods and services imports 50
Foreign primary income receipts 40
Foreign primary income payments ' 60
Net foreign current transfers +40
Changes in inventories -5
Consumption of fixced capital +20
Taxed on goods and services ( subsidics deducted) +10
Caleudate

(a) Gross Domestic Product to the market price
(b) Gross National Income to the market pric
(¢) disposable gross national income

(d) value added based on basic prices

(e) national savings and domestic savings {10 marks)
() - (a) how do you calculate the rate of investments? (2 marks)
(b) what is the rate of investments in Sri Lanka in 20157 (2 marks)

(iif) explain
(a) informal economic activities
(b) hidden economic activities (4 marks)

(iv) why is interest payments for government loans are excluded considering transfers
in national accounting? o (2 marks) -



